Discrete Math: 3.5 The Last Diminisher Method Name:
Date: Period:

Last Diminisher Method:

Preliminaries:

Rounds:

Angela, Boris, and Carlos are dividing the vanilla-strawberry cake using the last diminisher
method. The figure below shows how each player values each half of the cake. Suppose that
the order of play is Angela first, Boris second, and Carlos last. In round one, Angela claims
the entire strawberry half of the cake. in round two, the first player to cut claims a vanilla only-
zero strawberry share.
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1. Who was the last diminsher in round one?
2. Who is the first player to cut in round two?

3. Who was the last diminisher in round two?

4. Describe the value of each player's share (as a fraction of the total value of the cake) in
the eyes of the player receiving it.
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